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Question #1Topic 1

You must replicate to JMS Queues. Which product in the Oracle GoldenGate portfolio should be
used?

A. Oracle Goldengate for Big Data
B. Oracle Goldengate Application Adapters

C. Oracle Goldengate Veridata
D. Oracle Data Integrator Adapters

Correct Answer: B

Reference:
http://www.oracle.com/webfolder/technetwork/tutorials/obe/fmw/goldengate/11g/GGS_Sect_Con
fig_from_WinUX_ORA_to_AMQ_JMS.pdf

Question #2Topic 1

You want to use multiple concurrent Extract process groups. What is the key factor in determining
how many can be running at the same time?

A. the number of concurrent users
B. disk space

C. system memory
D. the number of compound keys on the source tables



Correct Answer: C
Reference:
https://docs.oracle.com/goldengate/1212/gg-winux/GWUAD/wu_performance.htm#GWUAD1131

Question #3Topic 1

Your Replicat performance seems slow. Which Replicat parameter can be used to improve
performance?

A. DEFERAPPLYINTERVAL
B. BATCHSQL

C. ASSUMETARGETDEFS
D. SPECIALRUN

Correct Answer: B
Reference:
https://docs.oracle.com/en/cloud/paas/goldengate-cloud/gwuad/tuning-replicat-transactions.htmi

Question #4Topic 1

When is a Pump not required to connect to a source database?

A. when transformations, filtering, and mapping are required
B. when look-ups are needed against the source database

C. when a PASSTHRU parameter is used
D. when a NOPASSTHRU parameter is used

Correct Answer: B

Question #5Topic 1

You must synchronize the starting point for Replicat with the restore point of the target database.
How should you accomplish this?

A. Use the command option AFTERCSN.

B. Use the command option ATCSN.
C. Use the command option UNTIL CANCEL.
D. Use the command option RESUME.



Correct Answer: A



